(aampPIronN:

Power & force

MUNnocTpmupoBaHHbIM KaTanor 3anacHbIX YacTen

Mopaenb: 241

Ne | ApTtukyn HaumeHoBaHue K-so [ Ne | Aptukyn HaumeHoBaHue K-o
1 YD380016-16301 | Kpbllka BO3aYyLUHOrO ounbTpa 1 20 | YD3800-16001A | Mpoknaaka nog Tenon3onsatop 1
2 | YD380016-16216 | 3avenka KpbILLKW, BEPXHSS YacTb 1 21 | L7T Cseva 3axuraHus 1
3 | YD2500-94013 Wrndpt 3x14 1 22 | YD3800-91232 | BuHt5x19 3
4 | YD3600-A-16306 | LUtudpt 3x24 1 23 | YD2500-90121 Bont M5x20 4
5 | YD380016-16217 | 3aLenka KpbILKM, HUXKHSS YacTb 1 24 |1 YD3800-21002 Bont M5x60 2
6 | YD460011-92404 | laika kpenneHus punbTtpa 1 25 | YD38007-21001 | Mpoknagka rnywutens 1
7 YD6200-93013 lMpoknazaka ranku 1 26 | YD3800-21110B | Mnywwurens 1
8 YD3800-16211 OuUnbTp BO3AYLLHBIN 1 27 | YD2500-92402 [aitka m5 2
9 | YD380016-27402 | 3acnoHka 3uma-neto 1 28 | YD3800-90221 Bont M5x10 1
10 | YD3800-91231 BuHT 5x16 13 | 29 | 089904230100 MopLHeBas rpynna KOMNeKT 1
11 | YD380016-15201 | Kpbiwka uunungpa 1 30 | YD3800-12501 lpoknagka unuHapa 1
12 | YD38008-24111 Pblyar Bo3gyLUHON 3aCMNOHKK 1 31 | 089904240300 MopLeHb koMnnekT 1
13 | YD38006-24112 YnnoTHeHWe pblyara 1 32 | YD4100-14311 [MopLLUHeBOe KorbLO 2
14 | YD3800-16318 é‘;’;‘;‘;‘ge”b”°e KomeLo 1 | 33 | YD3800-14002 | CromnopHoe konbLo 2
15 | YD38007-18201 Bont M5x70 2 34 | YD3800-14001 Manew nopLxs 1
16 | YD3800-16141B | Onopa ¢punbTpa 1 35 | YD3800-14803 | Lawba nanbua 2
17 | YD3800-18200 Kap6topaTtop 1 36 | YD3800-96113 MMoALWmMnHYK Nanbua 1
18 | YD3800-18203A | MNpoknaaka noa kapbopatop 1 37 | YD3800-18431 LLinaHr npaitmepa 1
19 | YD3800-16111A [ Tennoumsonsatop 1 38




(aampPIronN:

Power & force

MUNnocTpmupoBaHHbIM KaTanor 3anacHbIX YacTen

Mopaenb: 241

Ne | ApTukyn HanmeHoBaHue K-so | Ne | Aptukyn HaumeHoBaHue K-o
1 YD3800-12128 lWnunbka wuHbl M8x42 2 12 | YD4500-94604 LlinoHka maxoBuka 3x3,7x10 1
2 | YD3800-17403 ®opcyHka WwnaHra nogaym macna 1 13 | YD3800-13090 lNpokragka kapTepa 1
3 | YD3800-13006 Bont M5x32 1 14 | YD38008-13201 JleBas nonosuHa kapTepa 1
4 | YD3800-13001 Ynosutens uenu 1 15 | YD3800-26151 [MpoBOA BbIKITHOYEHMS 3aXMraHNs 1
5 | YD3800-95014 CanbHuk npasbin 12x32x5 1 16 | YD3800-26155A [MpoBOA BbIKITHOYEHUS 3aXMraHNs 1
6 | YD3800-93211 CronopHoe konbLo 32x1,2 1 17 | YD3800-95012 CanbHuk neBbIn 12x22x7 1
7 | YD3800-90122 Bont M5x30 4 18 | YD3800GF-15110 | MaxoBuk 1
8 | YD38008-13101 [MpaBas nonoBuHa kaptepa 1 19 | YD2500-92102 l"anka M8x1 1
9 | YD3800-94011 LWTndoT KapTepa 3x9 3 20 | YD3800-90004 Bont M4x14 2
10 | GC305-96022 MogLumnHuk konexHsana 6201 2 21 | YD3800-26110 MarHeTo 1

—_
—_

YD3800GF-14100

KoneHBan




HampPIoN

Power & force

UnnocTpupoBaHHbIN KaTanor 3anacHbIxX YacTen

Mogens: 241

Ne | ApTukyn HaumeHoBaHue K-so| Ne | ApTtukyn HaumeHoBaHue K-Bo
1 | YD3800-24411 Haknagka 3afiHei pykosiTku 1 21 | YD3800-24212 [py*uHa Kypka rasa 1
2 | YD38008-24214 lMpenoxpaHuTens Kypka rasa 1 22 | YD38008-24211 Kypok raa 1
3 | 027351600 Mpanvep 1 23 | YD3800-91335 BuHT 5x25 1
4 | YD2500-26190 Bbikntovatens 3axwuranus 1 24 | YD3800-17110 Mpobka macnsHoro baka 1
5 | YD380016-18299 Bak TonnMBHbLIN KOMNNEKT 1 25 | YD4500-18103 OuUnbTP TONMMBHLIN 1
6 | YD2500-17125 MNepexoaHMK MaCnsHOrO LWiaHra 1 26 | YD38007-18030 Mpobka TonnueHoro baka 1
7 | YD3800-18105 YrnoBoi coeanHUTENb 1 27 | YD3800-27215 AwmopTusatop baka 1
8 | YD3800-19200 MacnsHbIn hunbTp 1 28 | YD38007-24001A | Tararasa 1
9 | YD3800-18010 CanyH TonnueHoro baka 1 29 | YD3800-13910 Kopnyc 1
10 | YD3800-18001 YNnoTHeHWe canyHa 1 30 | YD3800-27111 AMOPTM3aTOP NPaBbIii HKHWN 1
11 | YD3800-91231 BuHT 5x16 1 31 | YD3800-91231 BonT 5x16 1
12 | YD3800-17134 LUnaHr canyHa macnsiHoro 6aka 1 32 | YD3800-27213 3arnyLka amopTusaropa 1
13 BAKTONMMBHBIA (NOCTABMAETCA | (| 33 | \13800.04002 | YinoHeue Tam rasa 1
TONbKO KOMMJIEKT)
14 | YD3800-13911 AMOpTU3aTOP NEPESHUIA HUKHWN 1 34 | YD3800-91231 BuHT 5x16 2




CramMPION

Power & force MANocTpUpoBaHHbINA KaTanor 3anacHbIX YacTei Mogens: 241
15 | YD2500-91221 BuHT 4,8x14 1 35 | YD3800-90222 BuHT 5x14 4
16 | YD3800-18101A | LLnaHr TonnuBHbIN 1 36 | PN38008-27111 OrpaHnunTenb amopTu3aTopa 1
17 | YD3800-18432A | LLnaHr npaitmepa 1 37 | YD3800-24515 AMOPTM3aTOP BEPXHUIA NpaBblit 1
18 | YD3800-18104 YNNOTHEHWE LLNaHroB 1 38 | YD38008-27211 AMOpTN3aTOp BEPXHUIA NEBBIN 1
19 | YD4500-18102 XomyT wnaxra 1 39 | YD2500-27116 Bont kpenneHus amopTnsatopa 1
20 | YD3800-94102 LUTndt KypKa rasa 5x25 1 40 | YD3800-27112 3arnyLuka amopTtusaTopa 1




L aampPIoN
Power & force

MnnocTpmupoBaHHbINM KaTanor 3anacHbIX YacTei

Mopaenb: 241

Ne | Aptukyn HaumeHoBaHue K-so| Ne | Aptukyn HaumeHoBaHue K-o
1 | YD3800-22110 | CuenneHue komMnnexkt 1 10 | YD3800-17004 | MnacTtuHa 3awmTHas Ha kapTep 1

2 | YD3800-22111 | KpecrtoBuHa 1 11 | YD2500-90201 | BunT4x14 2

3 | YD46008-22113 | MpyxwHa cLienneHus 1 12 | YD3800-17301 | Kpblwka macnoHacoca 1

4 | YD3800-22112 | LieHTpoBexHbIN rpyank 3 13 | YD3800-17200 | MacnoHacoc 1

5 | YD3800-22101 | 3awutHas wanba 1 14 | YD4500-18102 | XomyT wnaHra 2

6 | YD3800-22121 | bapabaH cuenneHus 3/8 6Z 1 15 | YD3800-17129 | LUnaHr MmacnsHblid HanopHbIN 1

7 | YD2500-96112 | Mogwmnuuk 6apabaHa cuenneHms 1 16 | YD3800-17128 | LLInaHr MmacnsHbIi BCackiBaOLMIA 1

8 | YD3800-17001 | Yepssk npuBoaa MacnoHacoca 1 17 | YD3800-17208 | Llaiba yepesika MacnoHacoca 1

9 | YD2500-90201 | Bont M4x14 3 18




CramMPION

Power & force MANocTpUpoBaHHbINA KaTanor 3anacHbIX YacTei Mogens: 241

Ne | Aptukyn HanmeHoBaHue K-so| Ne [ Aptukyn HaumeHoBaHue K-so
1 YD380016-15120 | Koxyx Kpblnb4aTKu MaxoBuka 1 11 | YD4500-25213 | Kopnyc Bo3BpaTHON NpYXuHbI 1
2 | YD380016-25000 | CrapTep B cbope 1 12 | YD46007-25211 | bapabaH crapTepa 1
3 | YD2500-25312 Brynka 1 13 | YD46007-25216 | MpyxuHa xpanosuka cTapTepa 1
4 | YD2500-25313 MpyxuHa 1 14 | YD38002-25215 | Xpanosuk cTaptepa 1
5 | YD2500-25312 Brynka 1 15 | YD6200-93013 | Waiba 1
6 YD4500-25311 Pyuka ctapTtepa 1 16 | YD2500-91221 | BuHT4,8x14 1
7 | YD2500-25318 [Waiba 1 17 | YD3800-91231 | BunT 5x16 5
8 | YD380016-25110 | Kpblwwka cTaptepa 1 18 | YD3800-91232 | BuHT 5x19 2
9 | YD2500-25302 HanpasnsioLlas WwHypa cTapTepa 1 19 | YD3800-24513 | OrpaHuumtensamopTusartopa 1
10 | YD4500-25212 BosBpatHas npyxuHa 1 20 | YD38008-24510 | MNepenHss pykosTka 1




CramMPION

Power & force MANocTpUpoBaHHbINA KaTanor 3anacHbIX YacTei Mogens: 241

Ne | Aptukyn HaumeHoBaHue K-so| Ne | ApTtukyn HaumeHoBaHue K-Bo
1 | YD380016-23000 | Kpbiwka TopMO3a KOMMNEKT 1 16 | YD3800-23031 [MpyxuMHa pyykn TOpMo3a 1
2 | YD2500-92101 l"anka KpbILKy WinHbl M8 2 17 | YD3800-23036 | Llaiba 1
3 | YD3800-13002A | 3ybuatbiit ynop 1 18 | YD2500-92201 | laitka M5 1
4 | YD3800-90221 BunT 5x10 1 19 | YD2500-94013 | LUTudpt 3x14 1
5 | YD380016-27301 | Kpblwka Topmo3a 1 20 | YD3800-23200 | Pbivar neHtsl TOpMO3a 1
6 | YD3800-23111 Tlenta Topmosa 1 21 | YD3800-23110 | LLTok pblyara 1
7 | YD4500-22211 LLlecTepHst HaTSHKEHMS Lienw 1 22 | YD3800-23123 | MpyxuHa pblyara 1
8 | YD4500-23023 Onopa 6onTa 1 23 | YD3800-23113 | OcHoBHas npyxuHa TopmMo3a 1




CramMPION

Power & force MANocTpUpoBaHHbINA KaTanor 3anacHbIX YacTei Mogens: 241
9 | YD4500-22201 Bont HaTseHus Lenu 1 24 | YD3800-94012 | LWtudt 3x8 1
10 | YD3800-22212 MNanew HaTsHKeHNs Lenu 1 25 | YD38008-23108 | KpblLuka TOPMO3HOTO MEXaHU3Ma 1
11 | YD3800-23121 BTynka pelvara 1 26 | YD3800-91211 BuHT 4x13 3
12 | YD3800-23122 Pbivar pyukv Topmosa 1 27 | YD2500-91321 BuHT 4,2x8,5 2
13 | YD3800-90123 | Bont M5x40 1 | 28 | YD3800-22251 E’;ﬁ‘j””a SaLL/ATHas Ha KpbILIKY 1
14 | YD3800-23033 Brynka 1 29 | YD3800-23013 | MpyxuHa 1
15 | YD380016-23011 | Pydka Topmosa 1 30 | YD2500-23012 | Llainba 1




